x-5x?—14 = 09] F 5122 0, p2t T 1, o7 +67 O] G 17

D 4 @‘4 ® 8 @ -8 ® -16

=52 -14=(x2+2)(x2-7) =0°]B=2
Folda, =

ZFZy \2i, — V2io|BR
‘12+ﬂ2=—2—2=—4




APPAA X - 110 430 = 09 U] 2 % 7P 2 22 0, 7P 2
T2 peh e, a2 4 20 2

@ 8 @9 @ @ou G

B ~
x-11x24+30=0

(x2=5)(x2-6) =0

. ox = +V5, x=+V6

AL La=-V6, 7P EZb=+V6

LA+t =6+6=12




3. AEPEEAl 4t 4 3x2 - 10 = 09] RE Ao F29

(@)_2 @ -1 ® 0 @ 1

B

xt+3x2-10=09°]A
x2:t§i]§'—]‘_-3}-@
24+3t-10=0, (t+5)(t-2) =0
Lt=-bFEE=t=2

. x:J_r\/EiPF_—‘Ex=+ 2
mEbA 2E AT &
V2 (=V2) = -2

rlo




x* = 2x% = 5x 46 =0 2] S5 F3tof=t

it

i

0
i

v Vv v.vvyy
0
L
=
I
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il
=
|
w

2 =2x2 =5x+6 =(x—1)(x*> - x—6)
=(x=-1)(x+2)(x-3)
Cx=1EEx=-2E=x=3




WA X3 - 6x% 4+ 11x - 6 = 0 o] S}E F5hodzt.

it

i

02
]
=
I
)

v Vv v.vvyy
0
L
=
I

02
il
=
|
w

B

¢

f()=12-6x12+11x1-6=0°EZ f(x) =x-1<=

A= zhe=tth

Tt f(x) & x -1 2 UE K2 o YA eR i
1|1 -6 11 -6

1 -5 6

1 -4 5|_0

Cf) =(x-1)(2=-5x+6)=(x-1)(x-2)(x=3)=0
L x=1EE=Ex=2EE=x=3




6. AEA xS Tr-6 =09 F oA 2G 0, p 2 S 1), 0t p
o gre ota?

-1 |1 1 -1 -7 -6

-1 0 1 6
2|1 0 -1 -6 0
2 4 6

123|_0

(x+1D)(x-2)(x*+2x+3)=0
X +2x+3=0 9 F o] 5]To|BR
(D<0)a+pB=-2




® 2 @ 4 ® 6 @7 ® 10

(x=1)(x? — ax + 2a) = 0°| A

i)10] 29 3¢

x> —ax+2a=0° x=1& HY5tH AHfoF st =
l1-a+2a=0,a=-1

ii) 10] S2°] obd 3%

x? —ax+2a=0°] = 7HABE BEA] D = 094
D=d?>-8a=0,a(a-8)=0,a=0,8

L 048-1=7




® 1 @ 2 ® 3 @1 @)

x* +ax® +bx? +4x-5
=x-Dx+1D(x2+tx+s)

=2 -D(2+tx+s)

t=a, s—1=b, -t=4, —s=-5
t=-4, s=50]8B2 g= -4, b =40]1l,
Uz £ 20 H2 sol2g 50|t




9. xoll et AAPTEA % + 20 + (k+ 1)x +k = 0] o] BF Ao]
S5 oh A4 k2 gl HelE?

@ -1<k @ 1<k<?2 ® k>0
1 1
-1 — < —
@ -1<ks< @k_4

B x4 222 + (k+ 1) + k = 02 ZHAHE o]-&5to

(x

o] fj, F£oiZ WA Ao mE o] o] H2H
WAA 2 4 x+k=00] 2L TP B2
D




